HENEREREHES
SH3F12H16H (K)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 148 N7~ 283.1 160 31
<t/ 101.7 60 30
JU 43.7 69 36
E=X 1,483.3 1,059 300
RAAIH LA 41.9 623 169
JUH LA 1,016.3 510 20
LEHLA 521.0 480 20
YFHEFELAS LA 5905.1 1,319 289
=FHLA 169.6 309 20
<AOLA 118.6 780 255
2O0F 287.5 209 20
VAXTY 27.7 251 239
<7rd 57.2 819 300
N 316.3 845 161
FAHA 159.9 262 51
F+77>39 1,409.9 893 60
HFHS 428.4 26 20
74 F XK 40.6 1,361 66
AXF 438.3 270 32
= oAv i o) 54.0 241 70
N 27.3 80 25
ALY 46.4 6,100 335
M= 7,384.7




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =

S 148 e INY 27.0 | 24,500 2,250 [pon *°°
AADFASFF 261.5 1,345 160
HHEHA 180.7 30 20
JESHAA 72.5 69 20
< koS 42.4 359 20
AXH5T 81.7 619 20
ZILAA T3 45.8 750 360
ZILAA FI%E 20.0 7,470 4,220 [0
TUAh 1,078.0 1,100 169
7 U R 535.0 5,619 1,200 |G 07
<43 126.6 880 190
TFEH] 305.8 639 58
AFF<3 299.4 1,459 800

CHE 10,461.1




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &
BERXFE 87 |77 47.6 450 281
<t/ 280.8 950 33
JU 468.9 38 20
B X 29.9 1,655 400
RXAIH LA 148.7 811 609
LEHLA 130.7 350 30
e 51.5 789 159
FA5 A 27.5 309 30
F+77>39 25.1 796 330
HFHS 110.1 30 20
>0OX/)VUlL 279.9 1,401 766
L ADE 317.2 1,320 893
AXF 223.3 389 109
dE>HAN 77.7 51 40
SFIA 737.4 1,800 400
TRORD 165.6 1,300 111
Y= 86.3 2,520 200
L 198 = Av i o) 27.0 209 189
JdEHAN 67.4 66
TRIRD 23.9 749 139
iR 7% IR S A 1,144.6 380 150
N a4t S5 2228 115 20
EXTYRS 154.7 169 100
TERAVHA 182.8 219 123
N 5,031.4




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
K 142 <73 767.3 1,000 800
<A 28.7 900 600
EEXRIFE 872 |E= X 2,595.4 1,800 700
A2HLA 38.0 1,100 500
<AL A 36.9 800 300
I54 50.1 1,200 500
+77>37 24.4 800 200
XXF 336.5 400 150
NSO 42.1 4,000 2,000
ERE 172 <73 22.0 800
NSO 678.4 7,000 2,500
#D 20 E=5X 142.5 2,200 1,500
T 44E <A 1,910.1 1,200 1,000
=45 33.8 700
aituE 6,706.2




